
Monday 30th of March 2020

Morning guys,
This is your plan of work for today. Try your best to get through it but remember you’re under no pressure to get this all finished.
I will upload a daily plan to make things easier for you but again I’m leaving more than enough work. Just try your best.
I hope you’re all enjoying the weather, make sure and get some fresh air today.
Mr Culbert


English
Exercise Your English pg 50 and 51 (they are on this document…see below)
Reading 30 mins from your collection of books
Maths
Operation Maths pg 112 and 113 (see below)
Mental Maths  Week 33 Monday Test
Gaeilge 
Beal Beo (see below)
PE
Go for a walk or a run today
[image: ]Put the sentences in the right order. 
Mr. Culbert
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Cén rang ina Cén dath siile Cén dath gruaige Is mise
bheuil Art? atd ag Art? atd ar Adife? §
Tame mbliana daois.

Té mé i Rang a
Togr

Cén sbrt cosa atd Cén sért cluasa
ag an goat? at ag an geoinin? Tasa

Té mé i mo chanai i

Cén rang ina Cén dath atd ar Cén dath atd ar Graiméar: Réamhfhocal ‘ag’
wa @ do chuid grudige? do chuid siile?
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ramhar bolg agam T,

<ot an Té tana. ( “agam (m@) agot (@) e 8 aqe )

CD s

T siile gorma

Té siile glosa )

Eabha is ainm dom. Seo é mo pheata An bhuil siile donna
Tame mbliana daois. Is é

Tamé i Rang a Ta méra aige. Ta siile liatha
Ta rua orm Ta bén aige.

Té glasa agom Ta dubha aige.
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Circle the correct spelling. 5
(a) Use your dictionary to help you. rake/racke sinck/sink paket/packet tank/tanck

Put the word into a sentence.
meckanic  mechanic mecanic ; %
nefew nephew nephue

truble troubel trouble

February Febury. Febrary
Aol i) e shacke/shake soket/socket takftack shack/shak

Use your dictionary to find the meanings of these words.
Put them into interesting sentences.

1 ridiculous 2 scent 3 enormous 4 eventually
5 gulible 6 generous 7 valid & considerate

Write the words. P
B B _The letters ‘g’or 2
jumble the first I f th Il a fruit.
prismblejthe fist sttecobihcanzaesitospaa fult Use your dictionary to help you to choose the correct word.

woman getting married:
rich:

opposite of full:

the day before today:
someone you do not know:
uncooked:

impolite:

a shape:

to recall:

scared:

Name of fruit:

Say the word. Fill in the missing letters
scrstr sprspl
Use your dictionary to fin

1 ananimalwithalongneck (giraffe/jiraffe)

2 another word for a plane (get/jet)
3 afruity/wobbly dessert (gelly/jelly)
a building used for exercise (gym/jym)
someone who rides a horse (jockey/gockey)

a country in Europe ~ (ermany/Germany)

epmcnmu<o s
v

Five words starting with ‘pen’.
Five words starting with ‘bat’.
Three words with ‘ten’
Three words finishing with ‘ing’.
Four words with two syllables.
Four words with three syllables.
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"‘\ Multiplication and D
Skip counting and number sentences

to count in threes, sies and nines and record using
dditon and multplcation sentences.

In your copy, write out the multiples of:
3upto30 6upto 60 9up 10 90.

In your copy, write an addition sentence and a multplcation sentence and find the
total number of

eggs

sweets foces

vy

legs cupcakes
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Wite out o multiplcation sentence and solve these. B e
Insects have six legs. How many legs have: B et 7 rfer? Can)
)3 insects? () 9 insects? (i) 2 insects? B o i evormles i
)8 insects? () 10 insects? efer o his number?.
Atripad is a stand with three legs
How many legs have.

)2 tripods? G 5 tripods? (i 9 tripods? () b tripods? () 3 tripods?
How many wheels have:

)b ricycles? (1) 10 trcycles? (i) 8 tricycles? () 7 tricycles?

)9 tricycles?

A basebll team hos 9 players. How many players on

@ 3teams? ) b teoms? Gi) 7 teams? (1) 8 teams? () b teoms?

Use concrete materils or your 100 Dots sheet to model and solve these.
6x5 ax10 bxt 3xy
ax9 6x2 6x10 3x3
3x2 axs 6x3 bxb
3x10 3x9 ax7 3x8
3x7 bx7 ax3 axe
6x8 axy axs 6x9

Multiplying by 1 and by 0
Th pars o @ muliphcadon senence have difrsc mames

Qa x 1 = 9
Factor x Factor = Product

s plotes of 1 cookie = & cookies 4 plates of O cookies = O cookies

ux1ab 4x0=0
1isa focor the i10is aockr,
Txtmt T pokdvalonors | | gxiag T theprodul
be he oher fackr olwoys beo

This s the identity property This is the zero property
of multiplication. of multiplication.

Hink: use concrete

Find the missing producs, gl bobp )

bx1 0x10 7%0
1x3 1x10 1x1
0x8 1x7 5%0
axi 0xb ax0

Now try these.
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